LO1

wWN

CoO~NON A

10

1

3
12

~Noww

31605-1602574

31605-1602575
298496-M29

250636-M29

252239-M29
452-1602590

20-3506046

201460-MN29
252135-M2 ﬂ\ 5

3151-1602574

298496-M29
3151-16025@
31514-1602510-01 —

((_—"

252135-M2
201460-MN29

20-3506046

452-1602590

469-1602510

252239-M29
250636-M29

P 40. Mpu BBIK

F 40.Clu

rel

cue

con

(16

3160-3501048
412-3501085
469-3501049
402-3501065
3160-1602512
Ar-1602512

24-1602596-10

Al29-1602599
258224-MN29

469-1602528

31605-1602520

31605-1602522
250611-M29
31605-1602524

24-1602538
403-3505038
31605-1602514
Alr24-1602514-02
24-1602516
24-1602516-03
11-7547
469-3501049
12-3501048
3151-1602512
469-1602516
258224-MN29
469-1602528

3151-1602520

3151-1602522
250613-MN29
3151-1602524
11-7544
3151-1602514
201460-MN29
252135-M2



801

| 3 I 7 8 9
5 51-350 3 53114 80 - /- /- e gymn TH T bHag r'MOK IO LIUTaHTa Ho xe
3151- 51 5432 369 pue a vl de
7 T4 5431 383 Ko bu TO i vl de
d-p
8  3151- 52 5432 36 Hak TO aTe Yoke
9 25 3- 9 59951 90 laiika M10x1  a Nu MI xI
3151- 52 5432 365 To are b a yoke
3151- 52 5432 377 To ate b yoke Y
c6o a a ve
9- 528 5431 > Ko axkszawwmrH W cyl de
302582 - 9 59871 307 Mn 1 a,8x150 a Wi 8x150
9- 51 5431 ManxeTraymi TH Te bHast i vl de
a
5 3151- 51 5432 363 Un oy a a vl de
-350 8 5451 87 Knaman 74 a cyl de byp vave
c
4 7 9-350 9 5431 534 : I Ko au g ro HuIaHra cyl de byp
8 1-7547 5431 97 1* 1* PYXH g TTSXHAS pg yoke
9 4- 51 -03* - Mamxketa pabo4 ro Yoy de
30 ° 51 * - - ManxeTa Yf1 TH Te bHas Se
3 Al2 - 51 - - piie bpa pu a vl de
331 5 5% 53149 3462 - - puie vl de
33 03-3505038* _ Ko b T  pH
34 538%* - - Ko sy TO  pu dop
35 31 5- 52 53149 3465 * 1* * Hax TO aTe Yoke
36 50 -9 59553 56 * 1* * Taitka M8x1 Nu MS8xl
37 31 5- 32 * 1* *  To are b yoke
38 31 5 52 * 1* *  To are b Gope yoke Y
39 AI29-  599* - Ou ey Ai
B 596- * 1* * [Mpyxu aPH Ppa ve
ATl- 51 * 7 - Koprmyc pabo ro vl de
31 - 51 * 53149 - - Kopmyc vl de
3 2-350 5% - Ko ay AaHa Va ve
-350 85* - Knaman ve a HyXa Ai va ve
5 31 -350 8* 5451 87 - - Knamnan P¢1Y¢ it Byp vave
051 - 9 59553 Taiika M8 Nu M8
7 459376 bo TM8x20 a Bo MS8x2
8 31 - 7 53149 Bryn a s dapy
9 3151- 5432 34 vl da



601

| | s 8 9
50 58038- 9 5987 IMn  13,2x16 3. xl
5 5- 9 4598627 an X2 pi X»
5 9% - 59552 351 n skaM8 2 a St d M8
53 3151- 31 5432 36 Ko ycrmaB 10 a ma Y de
5 3151- 36 5432 36 To are bmH aB  ro a Ma Y de
55 3151- 348 5432 4 aiiGayno as tmas o @ Ma Y de wa
5 69- 36 5431 3 Busika Ton are i aB  ro a Ma VY de yoke
57  3151- 338 5432 399 Ko by TO yII i f1aii0bl J1aB  TO Ma Y de ¥ wa
58 69- 558 5431 Ko aK3aluTH IMIaBH ro Ma Y de
59 450- 7 53111 % Hak az a " a da
9- 50- 5431 ocs ™ da 1
585- 9 459871 Min 1x32 x32
5051 - 9 59553 50 Taiika M8x1 Nu M8x1
3 3151- - 5432 31 Kp wreiina it Peda br ke
3151- 8- 5432 309 Kgy urreitn y br ke wi 92
mu 90 a
5 69- 30 5431 L[g raB i ma vl de
o] a
3151-35051 5432 7 Kp wmika 6ayka rmaBH ro a Ma vl de k
86 LK k ke
3151-35051 8 5432 a 6au adulaBH ro Ma vyl de
3151- 330 5432 ;2 Kianan i maB  To a Ma vl de va ve
9 69- 554 5431 Mamnxera yrul TH Té! bHast LiH TJIaBH TO Ma VY de
7 9- 54 5431 985 piue b IJIaBH 104 Mamxeroii 00 Ma vl de wi Y
7 3151- 329 5432 Ol e rmasm ro Ma ¥ de
9- 548 5431 ManxeTaymn TH Te bfias Se
73 03-35051 5 07 Cerka 6auka maBH ro @ 60 Ma VY de ko ze y
7 3151-35051 5 543 0 Ity Gay arasH rod Ma Y de ¥
75 3151-35051 8 543 87 Ko, veGau armamn ro a Ma ¥ de §
7 9-35051 7 5431 ? a wTyLe % 6ayka IIaBH To Ma VY de k ke
77 52- 317 531115363 JHtyn  rmae  ro a ma Y de
78  3151- 318 5432 30 alTyle arjaBH To a Ma Y de ke
79 03-3505032 5 285 pyxu ,3BparTHas IH [IaB T Ma Y de
80 3151 337 5432 Jle xare 538 arw g¥¥a M Ma Y de de
aB  ro a
8 3151- 331 5432 yku - sspatHan W 60 Ma Y de
«_ g MI Tan M -7 d7s, 90
Wh di k13 90
* - BomIl Tall M
When 4021.1000400-70  installed



A &
6 10-M29
46 250510-M2 7 —

9 252135-N2 2
47 459376 1119 4 olf

469-1602300
3151-3505110
3151-3505118
3151-1602330
469-1602554

3151-1602008-10 D

\\
3151-1602062-10 =X
252135-M12 MW\\\\\\
\\ ““”ﬂwuuuﬂ“
250511-1129
258054-1129

469-1602050-20

11-7547

49 3151-1602010 3151-1602329
469-1602548
403-3505126-01
3151-3505115
3151-3505108

469-3505117

469-1602546
3160-1602072 p

450-1602047
50 258038-29

51 260056-M29

52 290144-N2
53 3151-1602310
54 3151-1602362
46 250510-M29
55 3151-1602348
56 469-1602364
57 3151-1602338
58 469-1602558

469-3501049
452-1602317

* \\\\\\\ﬂﬁ/ ) 3151-1602318

mﬂﬂumﬂmﬂ[mmum - \\\\\\\\\\\ 403-3505032

— Y 4 il 3151-1602337

P ‘ WWW' 3151-1602331
‘II“HMHWWW“



| | 3 ER R 8 9
I'PYIIIIA 17. KOPOBKA INEPEJTAY
GROUP 17. GEARBOX
IMoarpynna 1700. Kopooka nepenau B coope
Subgroup 1700. Gearbox in Assy
ad, oKa fe 4 ki
69-17 5- 5431 96 Ko 6ka ope aslato  aq TO it Ge box, box brke Y
T0 MO3 Rl 6Ka fe ki
9-17 5* 4531 Ko ©ka a3fiato  gg TO i Ge box, boxd ! br ke y
T0 MO3 Q9
3 69-17 - 5431 96 Ko 6xka yq 6o Ge box °
9-17 + 431 Ko 6Ka gy 60 Ge box °
™
5 3153-17 * 4532 - - Ko 6Ka gy 6o Tyn  aras Ge box ° 5 d)
. % 5431 kg Oxa 6o . Ge box ° fo
T samac  x acreit)
BK- 9-17 * 4531 81 Kgpooka P¢  ay Oope . Ge box Y fo
T  szamac x acteit)
IMoarpynna 1701*. Kopooka nepenau
Subgroup 1700*. Gearbox
0K aqy
3 69-17 5 5431 963 Kapre ro Ge b(f)tx
i
9-17 32 5431 pana saff i In & be
3 017 34 5431 32 Ko b TO a In o be
1
S510-17 36 53111553 Tajixa a ana In be
JIalt LK 1 ke
5 4510-17 53111555 a a Be
SIA-17 53111354 Kp LHKaLUM a Be
mj
7 51- 90 5311482 Ck GaTUDKH i YK Re P
8 ﬁgg 13158- 59816 [laii6a 8 Y1 ast Sp  wa 8
9 ) 59346 952 Bo 1'M8x25 Bo lv%tsts
9-17 5 5431 96 Ban bl Mxp 3aro a In wi yn ze
3,4 9-17 5431 30 Ko b 61 yRlue ° 3a10 a Syn e ba k
3 69-17 9 5431 96 Be Y syGuarsii ana In i
30 69-17 30 5431 36 8 Ban " M In
9-17 965 ft .
7 5431 Ban 3y0YaThiM In f wi
5 69-17 5431 977 Bax TO i 0o Ou ft y
t
52-17 97- 53111 Ko by TO 3a1 TO o a Ou be
TO ro ajia
5
17 52-17  96-A 53111 KJB  yp Th
3,45 g 0-17 o 53111525 Ko wir TO N
9  452-17 90 51583 7475 A org  TO IO BaJa 3amH i Ou o be
11040
7T g 5431 533 aTo ro ana Ou i be





